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𝟓𝒙 + 𝟔 − 𝟕𝒙
𝟐

= 𝟑𝒙 − 𝟏
Solve:

Graph the inequality. 𝒚 <
𝟐
𝟑

𝒙

If the list of fractions below 
continues in the same pattern, 
which term will be equal to 0.95?

Term 1 2 3
Fraction 1/2 2/3 3/4

A. the 100th

B. the 95th

C. the 20th

D. the 19th

Simplify the following:

𝟏
𝟐 +

𝟐
𝟑 +

𝟑
𝟒



TURN IN ANGLE 
CHALLENGE



Go over Quizzes



OBJECTIVE:
WHAT DOES CONGRUENT 
MEAN???

≅ Symbol for 
congruence!



Some other symbols to know

∥      parallel

⊥ perpendicular



Rigid Motions

• What are Rigid Motions???
• “Motions that preserve the size and shape of figures”

• Who can name some Rigid Motions that we 
know???

• Translations
• Rotations

• Reflections



Congruent = same size, same shape

• All the angles are the same
• All the side lengths are the same



Two Congruent Triangles…
If I tell you that triangle CAT is congruent to triangle DOG… 
what else can you conclude? Tell me everything you know!
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Complete Reflection Questions 1 and 2  on pg. 910





Highlight! pg. 910

When you write a statement such as 
DABC @ DDEF, you are also stating 
which parts are congruent!!!

Helpful Hint



Let’s Look at Example A on pg. 910 



Try Part B on pg. 910!



Try Questions 3 – 5 on pg. 911



Try Questions 6-7 on pg. 912 



What do we KNOW?

What are we trying to prove?



pg. 912



What do we KNOW?

What are we trying to prove?


